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(D) 1. BE XY zZ:= —‘F,k T EECR O X=6,y=4,7=2 A}/ FRT A FAENEL 0 €
e EERs?
printf(“%d”, ++x || ++y && ++z);
printf(“%d %d %d”, z, y, x);

(A) 0642
(B) 1742
(C) 1246
(D) 1247

-
W

C) 2. ey EHwFs [ B PEA 4 o #-F 4L (data) 2 4% ¥ (Operation) "€ & 4=
i

(C) #x
(D) ik

(C) 3 FHHTAFFAEEZHTHEL Y
(A) (x>=y)
(B) (x!=3) | (y!=9)
(©) (3>x>1)
(D) (x-=3) == (y+=1)

(B) 4. TleH & 24425 3](Non-Procedural)s® 5 7
(A) Visual Basic
(B) CLIPS
(C) php
(D) Python

(5 &3 #240)



(A) 5 R EC+H7 » {7 cout<< (53 & 23)lp % s @ ?
(A) 21
(B) 33
(C) 30
(D) 1

(C) 6. k™5 CHR BT 18 m@?l Nsmg?
enum direction {north, south, east, west};
direction My_direction = west;
cout << My _direction;

(A) west
(B) null
() 3
(D)1

(B) 7. R T 5| Java 423" %‘ﬁiﬁ%l hERE FU?
int total = 6;
total = total + 8 / 5 * total;
System.out.printin(total);

(A) 6
(B) 12
(C) 15.6
(D) 15

(B) 8. #HC++iF 7 ¢ o m# S 5% (Virtual function)™ 1228 & e4% 3% 45 (old code)w* v+ 37
B 7 ;" 75 (new code)
(A) i
(B) &A%t
(©) 1
(D) C++3mix 3 izfa k&



(A) 9. 4% 3w B 2 - B o B A &3 % (public base class) » @ #f %] D % g %] B ¢
4 g (Derivedclass) » Bl#& a 5 5% D #rA 4 ende 2 > Pl a B g% B b %
(A) % is-a B %
(B) % has-a i i%
(C) %% H %
(D) 2 Bix3 B %

(D) 10727 5 — @ ihie S50 3R § o6 e recursive(d) Sp i 37 i3t § keSS 9
void recursive(int i) {
if (i<8){
cout << i<<“«

recursive(i);

(A) 4 =
(B) 8 =
(C) 32 =
(D) #'2% =%

(B) 11. FHljE— 3 dp(Stack)# 4 g B &7 F ke » 0E B
(A) 4 ke
(B) 5 &
© 35~
(D) # B 1 8 B

(C) 12. 7 7] —"F‘f #* B & 42 A 3] 3F 5 (procedure language) ® 43 4 % 4 (control
construct) ¢
(A) = % %t (Iteration construct)
(B) i&# g (selection construct)
(C) # & %4g(Integration construct)
(D) ¥ & %1 (Sequential construct)

(6 ¥ F #4)



(A) 13. TABERAEFEZEFE® KPR FTHEI- B- BERGRT?
(A) insertion sort
(B) quick sort
(C) selection sort
(D) mergesort

(C) 14 £CHF7 7 > - Bz il E(index)i ~ &
(A) "5~ % % #c
(B) st ¥ Az 7 B {
(C) 5]~ & RlE -
(D) * 7]~ & % #cte —

(B) 15 & C++3F 3 @ » 7 Uik ® T Alin K ks i fe ¥ e lRAg ?
(A) create
(B) new
(C) delete
(D) free

(C) 16. Br7F - B k> vendeie£iEd {0,1,2,3,4,56}F #F #rEea o FH
PG S UE R anlieF kAL ?
(A) 2
(B) 4
(€) 7
(D) 9

(D) 17.A+(BeC)=(A+B) e (A+C)* & ¥ ik fic? chwm— i3 £38 ?
(A) ¥ - &
(B) 2 # &
C) e

(D) » e



(D) 18. % - 1 Boolean function 2 sum of minterms 7= ;% % i 2 X(1,3,5,7) » BT 7
7 A 12 product of maxterms % i fhlg % 7
(A) T1(1, 3,5, 7)
(B) II(1, 3, 4, 6)
(C) 11(0,2,5,7)
(D) T1(0, 2, 4, 6)

(C) 19. ® 5w ¥ & 5 B (sequential):B4EF g ¢ 3 » @ ' & (combinational):B4& & § ¢
DI JE i i 9
(A) AND 548
(B) OR H4&
(C) & & ZE(Flip-Flop)
(D) XOR B.4& R

(B) 20. & Unix % Linux % st # » K Tv8— i system call ¥ 2% &k & 4 37042 B
(process) ?
(A) execve
(B) fork
(C) dup
(D) bind

(A) 21, 7T 7 |vR— fAPAr > 2 7 iy HRR 3 (T4 5 (starvation) T % ?
(A) Shortest-Job-First (SJF)
(B) First-Come-First-Serve (FCFS)
(C©) Round Robin
(D) FCFS #pe Backfilling

(B) 22. 774 3 &5 ¥(deadlock) & 2 R Flz — ?
(A) mutual exclusion
(B) long execution
(C) hold and wait
(D) circular wait

CEEAE LD



(D) 23. ™ vi— B s Behp F A0 25 (process) ¥ T - B AR T B £ 7
(A) base register
(B) status register
(C) accumulator
(D) program counter

(D) 24. 7 F|wR— i3 jx m et R AT E L e fRtl g 12 ¢ chexternal fragmentation B
A7 ?
(A) paging
(B) segmentation with paging
(C) memory compaction
(D) segmentation

(C) 25.4r% — B 1T ¥ ki iikic M aBiE v 7 BF3K 35 2048 i page’ @ =+ i# page
0] 5 2Kbytes » s el 3@ g T 2 3 d S b ?
(A) 16
(B) 32
(C) 22
(D) 20

(B) 26. 1345 IP & @ o TTL(Time to live)§ = > 12 T oR3F xit 3 pl %4 2o % 38 9
(A) 7 % b as i
(B) ¥ **pbite 2§ Ak
(C) #* 33+ B 5t

(D) 7 * o HHieif ¢ &7 Bk gt A

(C) 27. 117 &-4F IPV6 chscif i —‘F,Bji‘P
(A) IPV6 =1t £ B &_128bit
(B) IPv6 p 22 IPSec 4c %441 » =t B i >
(C) IPv6 & 3 H #%(Unicast) ~ ¥ 3% (Multicast)¥ B #%(Broadcast)
(D) IPV6 E 8Tt 4aer p fofc B 5 5 iy



(A) 28. 17— ik LA ¢ 47 UDP fAsk 2
(A) NTP
(B) HTTP
(C) SSH
(D) SMTP

(B) 29.# ﬁ%] » 74 Web £ H (Form) > 7 % % D|vRfhsc ¥ 9
(A) £ ¥ 7 % (Replay attacks)
(B) SQL ;= » ;% 7= # (SQL injection attacks)
(C) % # s~ # (Brute-force attacks)
(D) = & sz # (Dictionary attacks)

(B) 30.SCTP id 5 = A > TCP/P $-3] ¢ - K 9
(A) i % & (Link Layer)
(B) & ﬁ;f] & (Transport Layer)
(C) g% (Network Layer)
(D) R #% (Perception Layer)

SR BT (F4210% 0 £ 40%)

1. 323 p (T ¥ % %LH 3 CPU e 1Tt f2 % 5 2 @ » 5 i@ Shortest-Job-First (SIF)
F )T 4}3 1 iTE T ias FpFE o

2. - ®iF A (depth) 5 k(k>=1)s= =~ gH(binarytree)> (1)& % 3 A B &g F ?2(2)
% h(k>=h>=1)% (level)i % 3 BB &g § ?

Z

3.(1)- ®E 5 n i#78 2(vertices) = & v B](complete undirected graph)#3 7
> % 18 (edges) ? (2)- ® £ 7 n i 7% 2k(vertices)s3 + Bl(directed graph)i 4%
75U BE?

4. # % UDP Socket p¥ » ¢ * "connected" £ "unconnected” sockets 7 i+ /& % %] ?



